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SN 2SHS D
Ha: 230E S(SILBB/25H02)
ool 2EEE (25 &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 40, 149
02 2012 S 0ll CHEHCH S AR B 58,000 58,000 0
OBBEAHZ S SAHPY 53,000, 0002 53,000
= 16,851
2 36, 149
OZHIBEAHY 5,000
—SAEE AR 5,000, 0002 5,000
= 1,000
= 4,000
Sso e 2SN 81,000 80,000 1,000
= 34,500
= 46,500
307 21201 & 81,000 80,000 1,000
= 34,500
= 46,500
02 BI2HYLRE 81,000 80,000 1,000
OZHI XA 81,000
—SEAME EA N (258)  7,000,0008 7,000
= 3,500
2 3,500
-0 HS23 HSAL 48,000, 0002 48,000
= 20,000
2 28,000
—252 A N 6,000,0002! 6,000
= 3,000
2 3,000
—80 2504 2% 20,000, 0002 20,000
= 8,000
= 12,000
HERs Na2E 308,200 308,200 0
307 21201 & 308,200 308,200 0
EIEIE P S 108,200 108,200 0
O mIIRY el 15,200,0002! 15,200
OB & 100EAH(ZAL) Z2FAI 20,000,0002 20,000
OSs8Y 2a#A N 16,000, 0002 16,000
OB ASAS Nz 12,000, 0002 2,000
OXNS2s D& U ALREA  10,000,0008! 10,000
OB SR S0E AL 22rAIY  10,000,0002! 10,000
OB I0IFSHMI A (OS2 T2H)
25,000, 0002 25,000
05 8129t 3 200,000 200,000 0
OBERHIIA QI2ASIE 200,000,000 200,000
S2s 29 140,150 161,140 220,990
201 YLEt2 A H| 117,440 136,540 £19,100




SA: 23S
Hu: 2501E WS(2HYBL/25012)
ol 25XE (649l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 At 2r2ltl 111,440 130,540 A 19,100
O g 21,680
—st20 B4 55,0002 207H 1,100
—B20Eey 20E 286,0002! 53] 1,430
—SI2Hs +22 BN S
70,0002 *40 2,800
—E20s +8F H0IA S 6,5002 *5007H 3,250
—DHZ 20,0002 *500% 10,000
—ste=el 5,000 %4002 2,000
—+8 Jlg ARl st 1,1002%1,000% 1,100
osY+g 79,260
—B208 2YAVE +2
70,000 %924 x5 1,260
—SNsANE SANE 15,0002 *400% 6,000
—DSLAZ(FII) 40,0008 *128H+150A1 2 72,000
OEET 1,500,002 1,500
oYx2 9,000,000 9,000
02 ZZT2YH| 6,000 6,000 0
OZZR2LHA 6,000,000 6,000
202 01 H| 3,600 3,600 0
01 2UH 01| 3,600 3,600 0
OstRHE ey YREXN 3,600,0002! 3,600
301 LerB A 19,110 21,000 A 1,890
10 BALAIH| B &2 19,110 21,000 A 1,890
OBt20Hs A 70021 %3902 +702 19,110
BE25Y X 103,000 63,000 40,000
= 40,956
2 62,044
307 ©I2+0| & 103,000 63,000 40,000
= 40,956
2 62,044
02 QI A BE 63,000 63,000 0
O23te 23sn 2YX 6,000,000 6,000
OS5t AlEESH % |XHl 57,000,000 57,000
= 40,956
2 16,044
05 QI2t9lEt 3 40,000 0 40,000
OB ES3I A 2el9lE 40,000,000% 40,000
OIFE ofRi0|2at 2 29 141, 144 0 141, 144
= 50,000
2 91,144
101 Q124H] 16,364 0 16,364




SN 2 HS D
N 2301S VE(2LVZ/23H0S)
ool 2us (el @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
04 JI A2 RSB 4 16,364 0 16,364
Oi& A 8#20I8t2 S Q12 16,364
-Jle3 36, 60021 %224 x2002! 14,676
—zgag 36,600+22 x232 1,688
201 LerE o] 24,780 0 24,780
01 ArR 22l bl 12,700 0 2,700
oger+gH| 6,900
—2stzel 2B M 5002 +4,0000H 2,000
—fM8E Y 100, 0002 +35 * 122 3,600
—sZA 253X P 100, 000! *8 800
I SZHEE 7Y 50,0002 «108 500
osg+g S H| 50,0008+ 1162 5,800
02 B2 12,080 0 2,080
ozz=g 2,080
—®@l23 220,0002! * 128 2,640
— 2 ALY 220,0002! + 122 2,640
—F40 RR2R 25,0008 «2CH 122 600
—AS. g 75,0002 * 128 2,100
—FIlorE B2 75,0002 * 128 2,100
—RE2AT 2B 2,000,0002! *14! 2,000
401 Al BI 2 2 4| 100,000 0 100,000
= 50,000
2 50,000
01 Al 99,100 0 99,100
OZHIREAMY 99,100
—0IF2 0U0I2sH XHE &
99,100, 0002 99,100
= 50,000
2 49,100
03 Al &S ChHl 900 0 900
OZHIREAMY 90
—0IF2 0YU0I2SH XHE 41
100,000, 0002 0.90/100 900
UESRSE 709,855 637,955 71,900
2 20,000
8] 3,760
= 50,620
, 2 635,475
CHOFESHHI X2 369,000 320,000 49,000
= 5,000
= 364,000
307 212401 F 369,000 320,000 49,000
= 5,000
2 364,000
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SN 23S
I 251012 WE(2sY2/2500S)
=L B EERED
SN EB -GS - MBAY - BES 0 & 24 e HRE2
02 QIAHAEE 369,000 320,000 49,000
OZH B XA 5,000
—UPHER X2 (CHOF23HA) 5,000,000 5,000
= 5,000
OMHOL2 BRI B A XIS 364,000
—HEEe 160,000,002 160,000
—-so 12,000,0002!* 175 & 204,000
SHBURE MEAS 8,000 8,000 0
g 3,760
= 2,120
2 2,120
307 BI2+0| & 8,000 8,000 0
p 3,760
= 2,120
2 2,120
02 QI HAEE 8,000 8,000 0
OJI2AHY 8,000
—RPHZoURE 8,000,000 8,000
g 3,760
= 2,120
2 2,120
SSHol s X8 93,700 96,700 3,000
301 YerEara 1,500 1,500 0
10 BAAHI 2 &2 1,500 1,500 0
OBHZEIH W 1,500,000 1,500
307 ©I2+0| & 92,200 95,200 3,000
REI=POEES 37,000 40,000 3,000
OSSH0I S #AK 30,000,000 30,000
OBHTEHH 2 7,000,00024 7,000
03 ALSISHAI 2 X 3 55,200 55,200 0
OS30=CH & 55,200,000 55,200
=SS0l &AL X 105, 115 105,255 A140
101 ©124H] 2,085 1,955 100
04 JIZH2E RS2 2,085 1,955 100
OSSH0IE A ZH| 0122 36,6002 8 +7L 2,085
201 L Br2 | 12,900 11,900 1,000
01 AbP-2t2/HI 12,900 11,900 1,000
Ogpt+gH| 10,700
—llcss #x% 500,000 <204 £ 1,000
—23U s 2YaY 70,0002 +108] 700
—BIEC XEK ZASY 60,0008 00 5,400
—BEE AFK 4T 40,0002 +00 3,600

_5_




SN 2SS
I 25z AS(SJLBB/25012)
ool olzAS EEREE)
_ _ _ Muo
M- B CQ(B) - MRAY - BES Ao il i~ o Hnz2
SEET 2,200,000 2,200
202 01t 8.640 2,880 5,760
01 2UHOTY| 8,640 2,880 5,760
OS3HH #A YPEX 8,640,000%! 8,640
203 YL =X 1,000 1,000 0
03 Al EZI R E | 1,000 1,000 0
OSS0SHA X & 1,000,002 1,000
301 YerB A3 2,520 12,520 0
10 BANAIHI 2 A3 12,520 12,520 0
OSSISSA B4 P43
30,0002 *30% #23] 1,800
O2350lz3slo &4 S 30,0008 *4% 63l 720
ONASEHA ASHE 2AZ (2SR
SERSER) 20,0002 *100% +53| 10,000
307 81240 68,000 75,000 A7,000
02 RIAAARE 68,000 75,000 A7,000
SELIES 40,000,002 40,000
OMHLOl JIH 10,000, 0002 10,000
OS4QN Y M S5 =32
6,000, 00021 *3)H 2 13| 18,000
SOt X 44,040 32,000 12,040
201 YBr2 | 2,040 0 2,040
02 ZZ 2| 2,040 0 2,040
OB HMEss2 B2 170,008 «128 2,040
307 2120 32,000 30,000 2,000
CIETEPNETES 32,000 30,000 2,000
OB SHHAH K& 20,000, 0002 20,000
O 2 L AN 12,000, 0002 2,000
402 212X+ 0| & 10,000 0 10,000
01 LI2AT=EE 10,000 0 10,000
OBM FUE A& 10,000, 0002 10,000
S20ERS NRH BHAY 40,000 40,000 0
2 20,000
= 10,000
2 10,000
307 2120 40,000 40,000 0
2 20,000
= 10,000
2 10,000
02 LIABABE 40,000 40,000 0
CETICEINL- 40,000




2A: 2SS
HH: 2oz HE(L2Z/250=E)
¢ dl=dls (cte: =<
) _ AT
A -3 -H2A(SH) - HEAMY - BES O AFH ‘Oﬂ/i\_Fo” Hos
— M3 FEHNES 230z XA
40,000,000 40,000
= 20,000
= 10,000
= 10,000
0Pt 2stgs N3 20,000 26,000 26,000
= 17,600
= 2,400
307 212+0 & 20,000 26,000 26,000
< 17,600
= 2,400
02 It B AE X 20,000 26,000 26,000
OEHIEXZ ALY 20,000
-0t Eetes 2o 20,000, 000& 20,000
= 7,600
= 2,400
0=H AlZ2z3dsasd 30,000 10,000 20,000
= 15,900
i 14,100
307 2I2tol A 30,000 10,000 20,000
= 15,900
= 14,100
02 g2t a8 =x 30,000 10,000 20,000
OZHIE=AS 30,000
—&0te tzgs =9 30,000,000 30,000
[ 15,900
i 14,100
gaeEa 2el 367,804 2,884,065 A2,516,261
gag=a 23 367,804 184,065 183,739
101 2124 d| 9,173 8,725 448
04 JI1ZtHZ22HSE+ 9,173 8,725 448
S22 &x Mo A2 9,173
—LAIAE I 36,690 x5 x50 9,173
201 LA 222,331 158,040 64,291
01 At 2teltl 77,287 53,230 24,057
Ogeta=2H| 13,287
—g=2 ASA:A ALN IS}
2,000& =1,0000H 2,000
-2 URHMAL S0 HE
55,000& 2004 1,100
—gEs dRE TARS 30,0003 20 600
—SE2E 2Z A4MHMA S
1,000,000 * 14! 1,000
—gEXURN MEER? & 22EE 7L
213,000 *108 2,130
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M 25HHSI
M 2oz dE(23L2/25H0=)
& gEeE2 2 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—HA8E U %E 7Y 50,0009 3563 900
~MYIIBTH =€ 7Y
1,730& 15001 <63 1,557
—StE4A HerH 2 200,000& «12& 2,400
—st&4a E SEA 7Y 100,000& «12& 1,200
—gXA AT 2 U KIS 100,000 4% 400
Ot 243 e M 2,000, 000& 14 2,000
O=EE JIEg&E M 10,000 *1,000H 10,000
o2& HA2UAR A EY 5,000, 000& 5,000
o2g=+¢ 40,000
—gES2dUEHA= 500,000& =10 5,000
—gEsa g 50,000& »4803| 24,000
—0Eolg=Ea 2ME 500,000& 5% »23| 5,000
—HOPDIY=E 2323 ZAlz
500, 000& 6% *23] 6,000
O=&tl 3,000, 000& 3,000
Oex= 4,000
—SXEA EIZ 800,000& *5CH 4,000
02 2324l 95,044 74,810 20,234
O=22a32AA 43,324
—gEa MIIAER 2,500,000& 123 30,000
—HE2N RESEES(MEEHA)
2,500,000& 13| 2,500
—UEd REEEE(SEH)
1,500,000& * 12l 1,500
—FUgSESNE 20,000& 128 240
—SRE=E g5l 2,000& 2002/ 400
—&DjetM 2tel | 360,000& «12& 4,320
—&II&8H EIIZ A 750,000 * 13 750
— a8 E A 710,000& =13 710
—=&J| 22l 200,000& «12& 2,400
-0 EIIEAM 120,000& 13| 120
— A 2otM E3ld| 84,000& * 13l 84
—2E2 3l 300,000 =13 300
Ozl 29,400
—0=J € HIISREU
2,500 *x2002| B *73] 3,500
—YWHEAIE A=Y 6,475,000& x4= | 25,900
OAl 4 EHI= Xl 22,320
—2==xXeld Fstx A 660,000 *20 & 1,320
—JIAZH X2l 10,000,000& * 14! 10,000
—sZJ|,YEAE, SE0WFD 2 45
5,000, 000& 14! 5,000
— 20 M2t 3,000,000& 27| 6,000
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SA: 2SS
Mo 250z NE(SHYBZ/25H02)
ol A2 2 (B9 &2
- = _ NUE &
SA-EHB . CA(ENH) - HEAY - BE2 Ofl &F o4 il i~ o HRs2
03 8 AF2 b 50,000 30,000 20,000
OstEe2n SYIIF I 50,000
—c= mF 25,000,00021 * 14! 25,000
—c= AE 5,000,00021 *14! 5,000
—H A 15,000, 0002 * 14} 15,000
—ss2s 5,000,00021 *14! 5,000
202 07 H 10,800 10,800 0
01 2UH Ot bl 10,800 10,800 0
OBt2 R28o RET 3,600,0002 3,600
OHS YR oYX 3,300,00024 3,300
OBI22 #AYR X=X 3,900,00024 3,900
206 TH 21l 5,500 3,500 2,000
01 K= bl 5,500 3,500 2,000
omOIB2 AHPY 500,000 500
OZXZ4T2l AR 500,000 500
OxA4z2 H2PY 500,000 500
ONZE SNBRl ADE 2,000,00024 2,000
Ost2 ST 257 2,000,00024 2,000
401 A& B2 2 | 120,000 3,000 117,000
01 Al &t 119,460 3,000 116,460
OBt2® e ZHS(BSL)NE
30,000,000 30,000
OCIat= MEHEA 29 30,000
—Ciet= MEHEa &5 20,000,000 20,000
—Chat= =4 R 10,000, 0002 10,000
O+=1D ge2ss)l ¥ 9E &5
59,460,0002 59,460
03 Al &bl 540 0 540
O+=D g28s)| ¥ HE &5
60,000,0002 x0.90/100 540
2. PEHSHY BE L HS(SSUD/25HTH) 8,266,015 5,867,428 2,398,567
= 2,069,738
=l 1,500,000
= 2,171,323
2 2,504,954
S5 2 8,266,015 5,867,428 2,398,587
= 2,069,738
3 1,500,000
= 2,171,323
2 2,504,954
2OINE 2T S+ 1,220,429 1,525,429 305,000
=2 742,300
= 167,345
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SA: 2SS
Hu: R PSS 2E Y NS (2HL2/2EM)
col: 251 e EER-ED
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 500,000
401 A& 2L 2 THY| 1,800,000 600,000 1,200,000
= 1,000,000
< 300,000
= 500,000
01 Al&H 1,793,520 596,220 1,197,300
OZAN AL NS E 3 H ALY 1,793,520
—ABCAL2E 1,793,520,0002 1,793,520
= 1,000,000
= 300,000
2 493,520
03 Al & = CHH| 6,480 3,780 2,700
OZAN AL TS E S H AL 6,480
—HABEAL2S
1,800,000, 0002 *0.36/ 100 6,480
SXNFBHY 24 1,858,000 555,000 1,303,000
= 1,254,150
= 603,850
401 A& LS THY| 1,858,000 555,000 1,303,000
= 1,254, 150
= 603,850
01 Al &t 1,851,311 549,645 1,301,666
OZHI 2 EAY 1,851,311
—gY FAMM MIIN REIH ALY 9 24
1,851,311,0002 1,851,311
= 1,254,150
= 597, 161
03 Al& = CHH| 6,689 5,355 1,334
OZHI 2 EAY 6,689
—gY RAMM ML REFH ALY 9 24
1,858,000, 0002 %0.36/ 100 6,689
S5 2224 ¥ 22 141,392 467,782 326,390
201 LBt 2| 14,480 10,870 3,610
01 Ak 22l 8,680 8,670 10
OFIEIES=] 6,080
—2s B EHTL 30,0002 10@ 300
—2sHEEne B4 55,0002 124 660
—25H HUEXE RS
500,000 4! 2,000
— 2 MA SRS EAS G
100,000 %203] 2,000
LR EE RS
70,0002+ 162 1,120
ozl 2,600,00094 2,600
02 BB22H| 5,800 2,200 3,600
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PN 23MSH
HH: K LR B2& 2 MS(2L2Z/235HM)
& 23 2el (el =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
O=2Z223LAA 5,800
—EANE 2 L HIIRs
60,0002 128 x5 & 3,600
—EQ23 M ®I| HMEA  250,0009 *43] 1,000
—HAZs =& SAI &3 3
1,200,000 *13] 1,200
202 o1l 6,912 6,912 0
01 2LHoHI 6,912 6,912 0
OR3 M 24A HXXE 2,560,000 2,560
OAHBA HEHE BXZA 2,560,0002 2,560
ORI 25 & 22y =T 1,792,000 1,792
401 Al & HI Y S THYI 120,000 100,000 20,000
01 Al£Hl 118,920 99,028 19,892
OR3M 23+ 49,460,0002 49,460
OXH2SSH SLAL 10,000,00024 10,000
OH=2 =¥ HHAIY 59,460,0002! 59,460
03 Al& 2T 1,080 972 108
O=23M 258 B 50,000,000 *1.08/100 540
OgHE = =8 FUlIAY
60,000,0002*0.90/100 540
s MsE22H XA 38,140 39,340 A 1,200
2 22,884
L= 7,628
2 7,628
101 @124 35,160 36,360 A 1,200
2 21,096
== 7,032
2 7,032
04 JIZtH22XSE 35,160 36,360 A 1,200
O3HIEZ ALY 35,160
—=ZsHES 2| NJAMS &4ADE 22
10,000,0002! 10,000
2 6,000
= 2,000
2 2,000
—Z3MHEE 22 NJAMY =ADE AR
25,160,0002! 25,160
2 15,096
== 5,032
2 5,032
201 Y29 2,980 2,980 0
= 1,788
== 596
2 596
01 A2 22/ 1,980 1,980 0




SN 23S
Y Q QS EE L HS(SHLBZ/25HH)
ool 23 el (chol M)
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = oS = =5 0:”/&,% Lsa
O=HIBEAY 1,980
—2MSEE NAANY B4FH S PY
1,980,000 1,980
= 1,188
5 396
= 396
02 232l 1,000 1,000 0
OETEEYN- 1,000
—230 SEaelt YA
1,000
= 600
3 200
= 200
HIXESS 24 260,000 29,000 231,000
401 Al HIZ S THH| 260,000 29,000 231,000
01 Al & H| 258,560 28,686 229,874
OHMEY SZZM 198,560, 0002 198,560
OBtET SR (M B U ASEA
2l 60,000
03 Al & = THH 1,440 314 1,126
OMAMES ZZXA 200,000,0008 %0.72/100 1,440
HE23RN BE U =29 35,000 95,000 260,000
[ 10,000
z 25,000
307 8I12+0I & 35,000 35,000 0
S 10,000
z 25,000
04 QIZHSALE X 35,000 35,000 0
OZHI XA 20,000
—HAFCHRI B ALK 20,000,000 20,000
[ 10,000
z 10,000
O 2yemz = 5,000
OLY ZAMMN = 5.000
OaHoleitiet 2.7 5,000
ZQSESHM 2 A0 345,840 232,000 113,840
= 207,504
[ 69, 168
z 69, 168
101 @1 24| 343,840 232,000 111,840
= 206,304
[ 68,768
= 68,768
04 JI2A M2 ENS B4 343,840 232,000 111,840
O=HIBEAY 343,840
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2N 2SS
HM: R RS BE L MS(SHUBT/2ET)
ool 25K 22l (oA
_ _ pSNE e
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
—GHOIAF RATH U EHY HMAY| O
bh X 343,840,000} 343,840
= 206,304
= 68,768
= 68,768
301 B BAZ 2,000 0 2,000
= 1,200
= 400
z 400
10 BALALH 2 A2 2,000 0 2,000
O2HIEF A 2,000
— 25 AFAYIY DS BN S
2,000,0008! 2,000
= 1,200
= 400
z 400
SO WU HAIAL AZ A 1,077,214 510,785 566,429
= 754,050
= 161,562
= 161,582
307 QI2+0| & 57,214 57,214 0
= 40,050
= 8,562
= 8,582
02 QItA AR 57,214 57,214 0
O=HIEE AN 57,214
—GHOIAF BYBA watel SX
30,000,000 30,000
= 21,000
= 4,500
= 4,500
—GHOIAt ERIY Latnel EAXH
10,000,000 10,000
= 7,000
= 1,500
= 1,500
—GHOIAF BABE BTAIL XL
11,714,0002 11,714
= 8,200
= 1,757
z 1,757
—GHOIAF EXIY STHAIE RXI2E
5,500,000 5,500
= 3,850
< 825
z 825
402 212 R0 1,020,000 453,571 566,429
= 714,000
< 153,000
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S Tt

oLk

D 30 Ay
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for
=
=
[ for

1C
x
2
g
M
0
for
X
=
i
=
1%
g
0x
Jo
=
rx
12
=27
Rl
12H
(E15
£l
OlM
0y

M

153,000

A

01 el ,020,000 453,571 566,429

,020,000

fv
T X

e H M
!
>
Q

O
H

SAY
,000,000,000& 1,000,000
700,000
150,000
150,000

|
%
=
o
i
0z
=
=
>
0z
1]
I

H W

c
o
bl
>_

i | A 2EALY AR EHI(

SEE A AZADIF0 e EH4FH) 20,000,000 20,000
14,000
3,000
3,000

H

e delsdd s&X 4 1,000,000 200,000 800,000
500,000
150,000
350,000

M HN OR

401 AIEBIZ S CHYI 1,000,000 200,000 800,000
500,000
150,000
350,000

M HY o8

01 A& H] 993,700 198,560 795,140
OoZ9 X4 2 993,700
- ZHl  993,700,000& 993,700

500,000
150,000
343,700

03 A& 201 6,300 1,440 4,860
| HI A 6,300
= PARS]

1,000,000,000& *0.63/100 6,300

M H O]

r

z
I
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00 -
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°e n
O

x

0z

30

MAH=RA 22t 490,000 0 490,000
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H
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M
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M-S (3) - HRAY - BES Aro B =2
0l &
01 QX2 8 20,000 20,000 0
(OFS=1gmES, 20,000, 000& 20,000
st gAldHl XI# 1,351,050 1,303,450 47,600
201 ZEt2FH| 1,050 1,050 0
01 AtR2tel 1,050 1,050 0
Oo2g=¢ 70,000 x15H *13] 1,050
308 A XX S 1,350,000 1,300,000 50,000
06 W=I|20l 1,350,000 1,300,000 50,000
Ogtu g4 1,350,000,000& 1,350,000
BMNE 23 30,000 0 30,000
308 KHXISHHMSO 30,000 0 30,000
06 wW=J|20i 30,000 0 30,000
Ogdsts Tz 30,000, 000& 30,000
2 MEHE 24 /A=) 3,006,592 5,000,999 A 1,994,407
| 111,991
& 43,777
= 2,850,824
s s4 754,580 686,483 68,097
| 108,991
< 19,815
= 625,774
2xs 29X 219,932 208, 100 11,832
201 2Bre | 11,540 11,540 0
01 A2 2 2ldl 11,540 11,540 0
Oget=ZH| 7,200
—2EUa ¥ dAEHEE=S HH
500 #43|x2,500& 5,000
—2ASA2A =9 ME 55,0003 404! 2,200
o2g=+¢ 1,540
—HES2UH&EIIS2E+E 70,0003 +22H 1,540
O=&tl 2,800,000& 2,800
202 (44l 3,392 2,560 832
01 =2 A bl 3,392 2,560 832
OHEH=SE2s =2 HSHA HRFA
3,392,000& 3,392
307 212tol 205,000 194,000 11,000
02 SltF a8 205,000 194,000 11,000
Ok M&ix= O 90,000,000& 90,000
O=oA2<eld tHal XA 15,000,000& 15,000
OLolMa 25,000,000& 25,000
OMEMSHEE AHMA 20,000,000& 20,000
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SN 2HS
HH: M2 9 MEHS S4(SHUBT/HS)
ool MBS R4 (o m2l)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0f Ao Sl ko HRE2
OdEM=s 2EEX 25,000,000& 25,000
OMEUSTZ I8 HY U 2
30,000,000& 30,000
HEN=SE2s SEXNE 58,279 48,279 10,000
= 15,386
i 42,893
307 21Ztol ™ 58,279 48,279 10,000
& 15,386
= 42,893
04 SIZ2tHALE = 58,279 48,279 10,000
OZHIExZ A 48,279
— NS SAME 22 200,000& 102! 2,000
& 1,000
2 1,000
—MEBHSHS U(BHZHSHEHS)
15,000, 000& 15,000
= 5,000
s 10,000
—MEHRNA2H (154 4A) 19,039,000 19,039
= 5,734
= 13,305
—MEMSZ2OH2H(3H) 12,240,000 12,240
= 3,652
2 8,588
OMEBHSUE N (FH2HSHSHS)
10,000, 000& 10,000
MEHE KNEZX EsX2 195,840 167,424 28,416
Il 88,320
i 107,520
307 21zZtol 195,840 167,424 28,416
Il 88,320
i 107,520
04 RIZFE AL 195,840 167,424 28,416
OJISML 176,640
— U (FHAH) MEHSXSXHIAY 3
(62) 132,480,002 132,480
] 66,240
= 66,240
—ol2a MERSUSK WIIAY 201(22)
44.,160,000& 44,160
Il 22,080
= 22,080
OLBHELR) MEHSX ST ALY =X %
&(6Y) 14,400,000& 14,400
OOl MBHSXIC XA =X =2
) 4,800,000& 4,800
HMsHS™ ALY 29,529 11,680 17,849
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A 2EH=H
A & |
S Tt —

ool MBS 84 (=E L
_ _ _ N E
A -3 -H2A(SH) - HEAMY - BES (il & OH bﬂngﬁ Hlws2
ol 20,671
= 4,429
= 4,429
301 YBHB A 29,529 0 29,529
| 20,671
= 4,429
= 4,429
SIEEEEEYE 29,529 0 29,529
O JIZAY 29,529
~ATXHIRH Al 29,529,000 29,529
| 20,671
= 4,429
= 4,429
SEHLBOIIENS XY 251,000 251,000 0
203 & REFY| 1,000 1,000 0
03 Al =X 2 =AY 1,000 1,000 0
OBtEUBOIZENS =7 1,000,000 1,000
307 QI2+0| 250,000 250,000 0
04 QI2HEH AR X 250,000 250,000 0
OM113 HZOIZIEWS EX 250,000,000 250,000
HeMsTE 1,462,012 1,128,516 333,496
y 3,000
= 23,962
= 1,435,050
SOE HAUSUAMS X 6,000 6,000 0
y 3,000
= 3,000
301 YBHP A 6,000 6,000 0
I 3,000
= 3,000
02 Bt IUSND 6,000 6,000 0
OJI3AY 6,000
—=S0EHAY SUMS X (4H)
6,000,0002 6,000
p 3,000
= 3,000
H272 KN XKL 723,988 523,916 200,072
101 1244 1,468 1,396 72
VSIEBTEESETES 1,468 1,396 72
OMSHA ZH| 0122 36,6002 *10%*4L 1,468
201 LEr2 Y| 20,000 20,000 0
03 & AL2 b 20,000 20,000 0
OF2, TG HSHAL 22 20,000,0002 20,000
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SN 2K
Ha: M2 U MBS SH(SAL2B/HS)
ool MeHSNE (S5l &2
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
202 048] 2,520 2,520 0
01 =401 bl 2,520 2,520 0
OF=, 569 MSHIRK YREF
2,520,00024 2,520
307 212+0I & 700,000 500,000 200,000
04 BIZFHALR X 700,000 500,000 200,000
OF=,cct9l MUl S 350,000,0008 350,000
OFZ,TCh9l MSHA XY 250,000,0009! 250,000
OSHENER S 100,000,0002 100,000
NEeSAIT N 250,000 274,500 24,500
= 17,500
2 232,500
301 YuHB A 250,000 274,500 24,500
= 17,500
2 232,500
1ozHe - 2525243 250,000 274,500 24,500
OZHI 2 XA 250,000
—2H S48 29(6Y) 250,000,0002 250,000
= 17,500
2 232,500
S5 2YX L 385,100 266, 100 119,000
202 014 1,000 1,000 0
01 =L 01 bl 1,000 1,000 0
O3S F2 25 HSHA J2EZ
1,000,0002! 1,000
307 2120l & 384,100 265, 100 119,000
02 IAAMRE 384, 100 265, 100 119,000
OZQHFHEN XA (0MES 4008)
250,000,0002 250,000
OM73 BAHYE H2ATKHS N
15,000,0002 15,000
ORI315] 22IHSHE SAKR  30,000,0002 30,000
SOl HSHA X 5,100,000 5,100
CEEEREX TP 40,000, 0002 40,000
O3 2HBE 44,000, 0002 44,000
SDHS20 S 80,000 58,000 22,000
308 XX EHH S 01 & 80,000 58,000 22,000
06 RSII 20 CHE 2 X2 80,000 58,000 22,000
O DAT FLNE 30,000, 0002 30,000
OBEZSSD 7% 2YXF  50,000,0008! 50,000
Zojel MBS N 16,924 0 16,924
= 3,462
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2N 2HS D
MU M2 U MBS SH(SHUB/AK)
ool MeXSTE (=E L
_ _ SIEN
SA - HH . CA(BH) - HREAY - BY2 Off &k 08 il i~ o Hm=2
= 13,462
307 Q20| 16,924 0 16,924
= 3,462
= 13,462
02 QABABE 16,924 0 16,924
OZHI 2 XA 6,924
ool MSSO0r2XE 6,924,0002 6,924
= 3,462
= 3,462
OF QIR S S A Xl 5,000,0002 5,000
OFOfQI0IHE =l X2 5,000,0002 5,000
ENEEEES 790,000 3, 186,000 A2,396,000
MEHSAL BE 440,000 650,000 A210,000
401 Al HI L2 THH] 440,000 650,000 A210,000
01 Al&H 436,508 645, 140 208,632
OB HMZAL T 297,840,000 297,840
OHNOIESE HIIZAIL XA
99, 100,0008 99,100
OHOIESH AXTH SXZAt 39,568,0002 39,568
03 Al =2 CH| 3,492 4,860 A 1,368
OJBIHMSAIE X4 300,000,0002%0.72/100 2,160
OMOIESE HIDIZUAIE HXIBA
100,000,000 *0.90/ 100 900
OHOIESE QAXPR X BA
40,000,0002! *1.08/100 432
IZMEHS2Y Ta 350,000 300,000 50,000
401 Al EHI L2 THH] 350,000 300,000 50,000
01 Al&H| 347,480 297,840 49,640
OORHSZE FHBA 347,480,000 347,480
03 A& 2 CH | 2,520 2,160 360
OORHSZE FHBA
350,000,0002 x0.72/100 2,520
SHHS(LUBDDHT/UBHT) 8,000 13,000 A5,000
S SmEyNE 8,000 13,000 A5,000
20I0HEI0I 2 8,000 13,000 A5,000
201 LEr2 Y| 8,000 13,000 A5,000
01 At 22l 2,000 3,000 A 1,000
SIS =¥ 2,000
—&40 M 55,0002 *2074 1,100
—z92 M 900,000 *14! 900
03 & A2 & b 6,000 10,000 A4,000
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PN 23MSH
HE: 2o HS (LTI /AL T)
ol UB NS (=E L
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Ol & 4 01l & 01 s
ozolotztdaol =24 6,000,000& 6,000
HY2AZHI (23S (IIEH/IIE 29,620 28,510 1,110
Jl=&Hl 29,620 28,510 1,110
Jl=&Hl 29,620 28,510 1,110
201 get2dd| 12,220 11,710 510
01 A2 2 2ldl 12,220 11,710 510
Oget=&H| 12,220,000& 12,220
202 o4l 13,200 12,600 600
01 =2 A b 13,200 12,600 600
SHASL(AIH, MOIL, /98 &4 8)
13,200,000& 13,200
203 R =2 4,200 4,200 0
04 REM2E TR 4,200 4,200 0
OFRN2IHRF&HI 4,200,000 4,200
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